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Question2

Read the extact given below and answer in Hindi the questions (i) to- (iv) that follow :-

-qry 
t Tdq vfi ?rT 3lR rdq EqT-+-{ q{-ft *} fi fr-fr efi, en+mr sB a qiqr qr, qF

frqd g{E sr 3ilgrr+ fi Ea rfi-q qT, fusi g* trdT fur r t *q*fi yur t Rrflq
qqTq-Aru-ft drmr HFrRRrq 1,, 

e

(D qrT{ t T+iq' t ilq+ +r wr arcq$ A ? Es-fr qTA t.rail vc+r ffi mr on6r dm
?Tr ? t4l

(ii) HFnet"Trrfirrr'frqq=q'tfrwsiwrfrqRa ? srq.i vr€itfrR{ | t4l
(iD s'r+ fr* *[* i at+qi +] Fmfllr 6-r rr{ Rqr ? aq-r i s+i Ev srgr+{ t wr r

frc{r ? UJ
(rD ?s .r1trq' +t orqr t ftq--fi qr rrrTR-+, * 6q' t qri qn-fu dr wr vrrar t ? t4l

Question 3

Read the exhact given below and answer in Hindi the questions (i) to (iD that follow :-
'ft*F ca rnfi sc*' qrq r{ qs-ft * r gi go tr sTr tr{ ? ft frfiirc i qa-sR fr si-€r
q-€t +-a qr q6dT, w yoenfr *i * nn"r 1p qt g6 sfrt {ft eftcq ff t r fii st ,
{rprr{i-qsg1, } BITEil &fi Tfi t,'
o qeTgr sT qRsq aftq 3Th {trr{q fr ca nt*fi + w il sfr sTrqr ? t4l
(ii) qagr *' w n sTri t rn t ft-s vcs s.r 3TRrq d rrqr t Vl
(iiD q€r$ * vrpT ftdr aF-r q?raR *sr qr ? qq vws rnq wr gw w ? vl
(iv) '!a w g-o utr rtsfi{ Erfr-€ ,ft t r" tr frs46 Fl Frr drcq{ a ? BR-i wi q€ slft--€-

+T Ma *,* frqT ? t4l

T;rUR ffirq
Question 4

Read the extract given below and answer in Hindi the questions (i) to (iv) that
follow:-
rqr.g g* 3raqd fr qs qrd rr a fr qw-vqrd R-grgcil ffi fi-{" Tffii t *qr. A AhT
T{+t $rnt fr qg* qrrq * gq-nq FcTK dI TS fi ,T{ t,,
(r) vv$Eil oerr * qmr 3rh dnr +.r qlsm qR-fl fifu |
( i i )  tqHi sEi t  3Tr€a si l rq-dqr€B ? er+tqr*rs l f lns?eqe ?
(uD gr EHi + 3r-g€Tr \[fir { ffi 6 +n-frr mnq Ar qqfr A ?
(ig qaal n ti + qTtilks +Trlit s'r RIT s€ +q 3iR frq. n-ta erar t ?

i4l
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l4l
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rffitfrhrrumlrfillllmy,rmmrrr s--';xi -helo,*' and answer in Hindi the questions (D to (rO that follow :-
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rtllMn*,lruffirrurmmnm r-- r; b€lo*' and answer in Hindi the questions (i) to (iv) that follow :-
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Question 8

Read the extact given below and answer in Hindi the questions (i) to (iv) that follow :--
t qry61 q F en-Shfi +) hT qfi-e" ?Fr HrrFn sr=TT T.silr B r t {** rrtrq q-q6i +6i-s-{ Tffii + tn{ tr+ +-r ** g+ '.ri w a* * tt B, sq'*er} q ft sril a,sFrffr drcdi t €rfl <+ril A sfu{ q-q'} rrtq ft-t 1ra qftm 6Ei + qR 3rqfi w{t *i,Ti
B, trs-a€ aq rrT fri +r qrtqR t ETh €ri q.r o* +t tFT fr W" ** wTFFl rrm.
i ta |  

.  - '  A ' ' ' '  ' ' ' '

o sq$ff 3rf;aT sEn t ftqr qqr t ? Eff-dT FE$ tt gs fu++ sT 3Trsrq ssa +lfrq | [4](ii) '** Fri + frq +t+ A-qrr d qror A eilr qfr ? I4l
(rii) 

'Tq-fifr 
d=( {ftrfr vrdr +r 3rd frR^{q aqr q++t fi.fi frft qc d&q t s_nqr srndq I t4l

Gv) +{ ffi gfrqd qFrtrr B ft qs v<rt t ca ft* ftFqR €.i + fu mear t ? t4l
Question 9

Read the extract given below and answer in Hindi the questions (i) to (iv) that follow :-
v€R t rqm fte qtt, H-c.erff w qr{ r ae pii dr ft qor q*m fr qqi 3il.q slq 6t+
tqrfl frq'r A-dr e ? 

.'

o .q{* sen ffi, m s-dr A ? qrd hq rilzrfl fr iR-d"*q,. Erdr rrqr ? ? tql(ii) ffiq' speq qr 3Td qfrr{q *t qe e{t FTse +lfrq fr oqFr * ft-ci +t qrd +tl m-rar B,
ftqq) ? VJ

tiiil effi Btr s€t A ? q€n q-{fr rE*ff mi +t qrd *it 6-€t rfi ? ?
(iv) wRftR+o 3rqfirur sti fr frqr wr a ? w+ fu45 ornq cart gq q*i+t elw qq q.aq

t efirqr srfrq I

FsTf-95.[

Question 10

Read the extract given below and answer in Hindi the questions (i) to (iv) that follow :-
ffi + T qs_{ a, d& a, s}-s r}, qTfi dr qi tr*, giil qgq qTfi 3lr( fu-( RT-fi srs6r
srq qrfr, qrn a Tft + qr t +fi, qqn fi qr t mil m-r rr& e\ |
(r) gqr sT qnrero fr&g r t4l
(ii) g3n + qh sT.r+r 3Ttrfit?T Hqq s-d ffi t ft EAf ? qfr +t sqRe{R.fr go fr wr

ertlm *or qr 3ilT w] ? 
€ 

Ul
(nD g3n {trt +'q-il t qri +} etg+, qfr Td-fi ff ? es vftrtr C a-{+ qfr mr eqr RqRqr ? t4l
(iv) qsT-slq{ E:qqrft wl anr a ? qR 3rTq+1 3r+fr rcTr q} fr 3nq \rqflhlq-{ m (t 4i1N"i

+ fu flrr-nrr 6ti ? Ul
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t4l

t4l

t4l

14)

givenbelow and answer in Hindi the questions (r) to (rD that follow :-

m TFq srTrkT d rrqr I wRr"il i qqF+l dt Ad 6r g{tq'R'frqr-qre tf go
1 6 5q6]q qg[6 qr I

il*<r irfrFr ur ? $rfir sqn T.q ?R[r sn ? t4]
"ilk dt rr--n+lq sE[6 qdf frqr rr-{n r ? ve+T tr{Ernl-rkr ftqq wr eTr I t4]

S + R"I-gniii ir srr eTre +.r ilfi wr frqr BiR flir ? wR ssi srtu sT f+,€
t4lth irr EFr ArdT A ?

qil *rfi +r eif6 !rw'n' df ? ? qs m,arfi * ara fr<<m wr ftT ?qT q6

* r 
F Et(SR', flT € / r fi iMt TEQT ({T qrftn 

t4l

given below and answer in Hindi the questions (D to (tD that follow :-

kq i q<m wq 16A aft wgmr rfr fr Tfr t"

t4l

t4l

t4l

ihlfr, m €rq {il w ? vfr+1 M ftq raFR ftt ?fr ?

l;ffir t Td fr fufr t qq flr q<R qT rrqr ?Tr Sr( df ?

Trd + frr-frn qrli + qPta t ?Mr-rnrr q,Rq{ pfi ?
qr *r{ * qrqn rt qdnq fr qPcri fr ge-vnFc q*q {<+i + frq +t{-+i'
ild qF*FFn *-ft A ?

c[f6{t-c['FT;t

givenbelow and answerin Hindi the questions (i) to (iv) that follow :-

+dirt qRqH eRt ra rr get A,
q{-a-< gr ggc, fr{dT k-TFFT A,
TH i'q Fn6, qm aR {s{ A,
qlftd{ r+rr-zje, iqET frartr{ ?,
fit qFrhs qArE 3, qfrarfr w aq fi
B *q1fr, q vtr fi, vgor $ H-dtt +1

qr ftrdf t qFi,r ,Trftasi + fi-cri mr quh mFq I
tfrq, iFT ?Fn dkqq A ? qql s.H T rsft s6r e 3iR +iT ?
m I ql-(tr{q sT .MI S€ S1 (EflTErd Ififi E 3lrt zFII !.

d Rkq ,-
qRqrl, fifrtqt, t<+frt, yzn6, rig{, sTftVfi, wire, <+rr-E( |

t4l
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Question 14

Read the exhact given below and answer in Hindi the questions (i) to (iv) that follow :-

qTtfril fr, sqr Wrfr i g<+ rya1 I

frFa 3ilrrr-qR( RfrTT 3TrR q mrr | |

ffi q'-t t fufr, BlTrm-r qft Rh R-rft |
g& el-tr q{ .rS, ffid erer ;qrfr | |

(D gqfr +t{ A ? E6 s-q, fr-tr T+rt, d ge qHft A ?
(ii) 3TFnq .ifu mr irm wc-c qifqq I

liiq FnnRrfua w-ei * e{.,f ftRqq ,-

3Tr&f,, frFf,, frfrH, qrrt, rtfr, r.ntf, qRf,, m I
(iv) +R sr rrrr ftt+fi, +.R--dT mr ffiq 'TR RR{q I

Question 15

Read the extract given below and answer in Hindi the quesfions (i) to (iv) that follow :-

qT-fr qA rrq t, qt iT qA Erq I

?rs arq sfrfuq, qfr vqrir *Tq ||

tr& €qrn !FTr[, Trrr +1 gfrc{ +fq I
.r(-RR?; * srq, stqr qTi m fiS | |

+a frrm 6fttrq,, q.*{ frt qrft q|-ff |
qftq qm ![qm, iTR'qq srqq] qTfr | |

trh i HqHT srq frrt 6-6r t Srr qfr ?

T{-KRE' sl qqr 3Tpf A ? w'n ftq rgw afr :r4r +r+r qTBq q?i Edf ?

qftrq ;1 qfti1-m sT ,THpf FrRqq I

qs Erc-fr t 3rTT+1 flr FreTr yrqil g{ ? qer+T W qH ryr A ?

l4l

t4l

t4l
t4l

l4l

t4l

t4l

t4l

(r)

(ii)

(iii)

(rY)
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